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Time : 3Hrs. Sem - V - Ag  
Irr. & Drn. Engg.

Full Marks : 70

Pass Marks : 28

Answer all 20 questions from Group A, each question 

carries 1 marks.

Answer all Five questions from Group B, each question 

carries 4 marks.

Answer all Five questions from Group C, each question 

carries 6 marks.

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

The figure in right hand margin indicate marks.
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1. Choose the most suitable answer from the following

options :1x20=20

(i)

(i)

(ii)

GROUP - A

Irrigation is needed  where rainfall is:

(a) Scarce

(b) Abundant

(c) Both 'a' & 'b'

(d) None of these

Which of the following is the surface source

of irrigation ?

(a) River

(b) Tube well

(c) Both 'a' & 'b'

(d) None of these
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(iii)

(iii)

(iv)

(ii)

water to move  through them is called:
(a) Aquiclude
(b) Aquifer
(c) Both 'a' & 'b'
(d) None of these

last watering before harvesting of a crop is 
called:
(a) Crop Period
(b) Korperiod
(c) Base Period
(d) Irrigation Period
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10.

11.
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Describe any one in brief.

between Gross commanded area and culturable 

commanded area.
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(iv)

(v)

(v)

(vi)

Draw-down in a tube well is more:

(a) Near the tube well

(b) Away from the tube well

(c)  Both 'a' & 'b'

(d)  None of these

when the crop is a few centimetres long is 

called:

(a) Paleo irrigation

(b)  Crop ratio

(c)  First duty

(d) Kor-watering
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Write advantages and disadvantages of tube well 

irrigation.

dam showing its components.

Describe any one.
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                 GROUP  - C

Answer all Five Questions.
6 x 5 = 30

6

6

Explain Kennedy's theory in detail.

discharge.

for the following data:

Discharge = 45 cumecs

Silt factor = 1.0

Side slope =         H : 1.0 V 

7.

5

(vii)

(vii)

(viii)

(vi)

Spillway performs the function of a:

(a) Device for measurement of area:

(b) Safety Valve

(c) "a' & 'b' Both

(d) None of these

Main canal takes off form a :

(a) River

(b) Reservoir

(c) Both 'a' & 'b'

(d) None of these
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centrifugal pump.

Describe cavity tube well in brief. 6.
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(viii)

(ix)

(ix)

called 

(a) Run-off

(b) Evaporation

(c) Transpiration

(d) Infiltration

surface water ponding is mainly due to:

(a) Topography

(b) Wind

(c) Capillary water

(d) All of the above

(x)
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Explain the following terms:

(a) Field capacity

(b) Irrigation efficiency

functions of dam.

pumped into a farm distribution system. 0.8 cumec

is delivered to a turn-out, 0.9 km from the well. 

Calculate the conveyance efficiency.

4.

4

OR

5.

4

7

Which of the following method is used for 

irrigation potato ?

(a) Drip Irrigation

(b) Furrow Irrigation

(c) Free Flooding

(d) Sprinkler Irrigation

According to Lacey's theory wetted perimeter 

of regime channel (P) is computed as :

(a) P = 1.75 

(b) P = 2.25 Q

(c) P = 4.75 Q

(d) P = 4.75 

(xi)

(xi)

(x)
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OR

Explain  the following terms :

(i) Transpiration

(ii) Evaporation

period.

 Explain sprinkler irrigation method in brief.
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of outlet.
(a) Less
(b) More
(c) Equal
(d) All of the above

Which of the following factors affect the 
consumptive use for a crop ?
(a) Humidity
(b) Temperature
(c) Wind Velocity
(d) All of the above

(xiv)

(xii)

(xiii)

(xiii)
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(xx)

Answer all Five Questions.
4 x 5 = 20

2.

4

Differentiate between confined and unconfined 

aquifers.

NT5002 9

in suspension due to eddies generated from 
the :
(a) Sides of the channel
(b) Bed of the channel
(c) Both 'a' & 'b'
(d) None of these

for minor irrigation ?
(a) Chain Pump
(b) Wind Mill
(c) Both 'a' & 'b'
(d) None of these

(xiv)

(xv)

(xv)
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(a) Outlet discharge factor

(b) Crop ratio

(c) Both 'a' & 'b'

(d) None of these

(a) Floats

(b) Current meter

(c) Both 'a' & 'b'

(d) None of these

1611502

(xviii)

(xix)

(xx)

(xix)
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by its self weight is :

(a) Timber dam

(b) Steel dam

(c) Gravity dam

(d) All of the above

in an earthen dam ?

(a) Hydraulic failure

(b) Seepage failure

(c) Structural failure

(d) All of the above

(xvii)

(xvii)

(xviii)

(xvi)

10


	1: 20 - 1
	2: 2-19
	3: 18-3
	4: 4-17
	5: 16-5
	6: 6-15
	7: 14-7
	8: 8-13
	9: 12-9
	10: 10-11

